
5.041. Решите уравнение 26 4 4x x x− − = + . 
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5.042. Решите уравнение 21 4 1x x x+ − = − . 
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Ответ: {3} . 
 
5.043. Решите уравнение 23 4 2 2 3x x x− + = − . 
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Ответ: {7}. 
 
5.044. Решите уравнение 24 2 2x x x+ − = − . 
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Ответ: {3} . 
 
5.045. Решите уравнение 2 5 2x x+ = + . 
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Ответ: {4}. 
 
5.046. Решите уравнение 22 8 2 1x x+ = + . 
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5.047. Решите уравнение 4 6 1x x+ = + . 
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Ответ: {19} . 
 
5.048. Решите уравнение 22 5 1x x− = − . 
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5.049. Решите систему уравнений 
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5.050. Решите систему уравнений 
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